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~EEHINE)T—a mE (Fiad) ~

<65~69i% >3 HH
[BESE [7]

TrA=T4EIYF<A>

ERE 260,000 M
BE 1,470 m/B x30= 44100 B
EEREE 370 /B x30= 11,100 A
T AT 4tk 1,309 A/B x30= 39,270 M
AN2NEBEDISE it 354,470 M
BEEDHE it 519,470 M
FA=F 1Yk <B>
ERE 260,000 M
BE 1,470 /B X 30= 44100 H
HEERER 370 M/B x30= 11,100 A
THAZT 4k 990 A/B x30= 29,700 M
AN2NEBEDISE it 344,900 M
BEDGE &t 509,900 H
TrA=_T14tyr<C>
ERE 260,000 M
BE 1,470 A /B X30= 44100 H
EEBREE 370 M@ /B x30= 11,100 A
F AT 4tvk 627 M /B x30= 18,810 M
AN2NEBEDISE it 334,010 A
BEEDHE it 499,010 M

(EFZE% 5500 A/A8)

(EFZE% 5500 A/A8)

(EFZE% 5500 A/A)

X BES EHZREFENSHLEE. JE. FREESELELTT,

SF6E6H 1 BIER
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REEE [1]

TrA=T4I<A>

ERE 180,000 A
RE 1,470 A/B x30= 44100 M
HEEEREE 370 /B x30= 11,100 M
T ATtk 1,309 A/B x30= 39,270 H
4N 2N B DIGE &t 274,470 H
BEEDHE it 439,470 M (ERZE%E 5500 A/H)

TrA=—T14tY:<B>

ERE 180,000 M
BE 1,470 @/8 x30= 44100 M
ERES 370 A/A x30= 11,100 A
T AT 4tk 990 F/B X 30= 29,700 A
AN2ANBEDSE it 264,900 A
BEZEDIHE &t 429,900 M (= EE 5500 [/H)

TrA=—T4t9<C>

ERE 180,000 A
BE 1,470 @ /8 x30= 44100 M
EEREE 370 M /B x30= 11,100 A
FAZTF4t vk 627 A /B x30= 18,810 A
AN 2NBEDIZE &t 254,010 A
BEDHE &t 419,010 A (=] =% 5500 M/H)

X BES EHZREFNHOLES. BB, EREENSRELES.

2 SF6E6H 1 BIER
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~EEHINE)T—a mE (Fiad) ~

<65~695% > 3ZIKE

FRREEEE []

TrA T4y <A>
ERE 91,000 A
BE 1,470 /8 x30= 44,100 M
EERBE 370 A/B x30= 11,100 A
TAZT4tyk 1,309 A/B x30= 39,270 A
AN 2NEBDISE it 185,470 A
BAEDHE it 350,470 A

TrA—_T14tv:<B>
ERE 91,000 A
BE 1,470 M/8 x30= 44,100 M
SEREE 370 /B x30= 11,100 A
FA=TF 4y 990 /B x 30= 29,700 M
AN 2ANBEDISE it 175,900 A
BAEDHE it 340,900 A

TrA—T4tv<C>
ERE 91,000 A
BE 1,470 M /B x30= 44,100 M
SEEREE 370 @ /B x30= 11,100 A
FA=TF 4 yk 627 M /B x 30= 18,810 A
AN 2ANBEDISE it 165,010 A
BAZEDHE it 330,010 M

(EfZ=%8 5500 H/H)

(EfZ=%8 5500 H/H)

(EfZ=%8 5500 H/8)

X BES EHZREEFNHLEE. BE, FREESRLELETS,

SF6E6H 1 BIER
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~EEH)NEYT—a mE (B ) ~
<65~69i% > 3G H
[REZE [T]

TrA=T4I<A>

ERE 57,600 A
B 1,470 A/ x30= 44100 A
HEEEREE 370 /B x30= 11,100 M
T AT 4tk 1,309 /B x30= 39,270 A
AN2ANEBEDIHE it 152,070 H
BE=EDHE it 317,070 M (=X =% 5500 A/H)

TrA=—T14tY:<B>

ERE 57,600 A
BE 1,470 @/8 x30= 44100 M
ERES 370 A/A x30= 11,100 A
T AT 4tk 990 F/B X 30= 29,700 A
AN2ANBEDSE it 142,500 A
BEZEDIHE &t 307,500 M (= ZEE 5500 M/H)

TrA=—T4t9<C>

ERE 57,600 A
BE 1,470 @ /8 x30= 44100 M
EEREE 370 M /B x30= 11,100 A
FAZTF4t vk 627 A /B x30= 18,810 A
AN2NHEDIGE &t 131,610 A
(EES 1y &t 296,610 A (=¥ZE% 5500 A/8)

X BES EHZREFENSHLEE. JE. FREESELELTT,

4 7646818 R
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~EIEHUNE)T—a FmE (FA) ~
<65~69m% > 35I&1H
[REEE (4]

TrA=T4I<A>

ERE 35,400 A
= 690 F/B x30= 20,700 A
HEEEREE 370 /B x30= 11,100 M
T AT 4tk 1,309 /B x30= 39,270 A
AN2NBBDSE it 106,470 A
BEZEDHEE it 271,470 M (=X =% 5500 A/H)

TrA=—T14tY:<B>

ERE 35,400 A
BE 690 /B x30= 20,700 H
ERES 370 A/B x30= 11,100 A
T AT 4tk 990 F/B X 30= 29,700 A
AN2ANBEDSE it 96,900 M
BEZEDBE it 261,900 M (=#EE 5500 [/H)

TrA=—T4t9<C>

ERE 35,400 A
BE 690 A /H x 30= 20,700 A
EEREE 370 M /B x30= 11,100 A
FAZTF4t vk 627 A /B x30= 18,810 A
AN 2 NEBRDIGE &t 86,010 M
BEDIGE &t 251,010 M (=X =% 5500 A/H)

X BES EHZREFENSHLEE. JE. FREESELELTT,

5 SF6E6H 1 BIER



